LOMBARDINouwp: 251D

A KOHLER. COMPARNgine: 251D 330-2 Drawing: H

ELECTRICAL STARTING/ELECTRICAL EQUIPMENT

POS. |CODE DESCRIPTION Qty
01 563R.054 starting motor 12V 1, 1KW 1
01 p840.211 starting motor 24V 2,5 KW (BOSCH) 1
01 b840.248 starting motor 12 V 1,2 KW (with antidusty guard) 1
02 9730.045 screw M 10 X 30 2
03 180.168 faston 1
04 J63R.002 washer 1
05 B23R.003 nut 1
06 6740.153 inlet regul.Saprisa 1
07 731.092 screw M 8 X 14 2
08 7362.383 volt.regulator 12V 20A fitted for electronic tachometer - 5+W c 1
09 732.063 screw M 8 X 35 2
10 B53R.082 spacer 2
11 613R.064 safety plate 1
12 2471.019 collar mm 175 3
13 2145.014 regulator cap 1
14 6491.013 pipe elbow 1
15 674R.001 pressure switch 1
16 4670.058 copper gasket diam. 8,2X12X1,5 1
17 ©613R.076 safety plate 2
18 1157.341 alternator 12V 18A for electric starting 1
19 256R.014 crown gear 1
27 B25R.084 nut 1
28 J71R.046 washer 1
30 1755.024 bolt M 5 X 20 4
31 9730.319 screw M 6 X 12 5

printed by LOMBARDINI: 11/08/2010 -

1




Engine: 25LD 330-2 Drawing: H

printed by LOMBARDINI: 11/08/2010



